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[3] [A]
M-I (PART - I)
99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)
fdsr : i g7 % v &7 & [ qeag Sfad Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. @6 9BR & & e, e g 1. A type of intelligence test in which

g

|

[

P FHfoAE &R HAA: gl © T T
PR AT BT &

[1] sfssss adierer

[2] sifeRT aiEreT

[3] T e

[4] TeqresT aeror

Uh  EO-AeEE egElen  orH
faf= argar ) a et & s
e, Al v & A ' w

TR T & e = J@) @t
gEq & TiafafeEt & SuEeT a2 ¢

[1] Tg-Hadl ™
[2] & fRrere

[3] G&hRl ST
[4] AR M

BT & A AT, e
e & g IUFTH F G B 7

[1] SR IarH

[2] YR IUFH

[3] 9 gy UM

[4] TfaSAYeT IUNH

frfafeg & @ @9-ar e &
T HMID @A P T 78T & 7
[1] I g § &

[2] Sfles § He

[3] TG &aretl O €l &1 5
[4] sraifea et | g
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[

|

the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test
[4] Performance Test

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching

[3] Co-operative learning
[4] Programmed learning

Spranger's classification of
personality is related to which
approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach

Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world

[2] Balance in life

[3] Knowledge of our potentials and

limitations
[4] Free from undesirable worries

P.T.O.
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‘T T [T SO ATA-FIar W hiY
fRem & oramd &far 8, @ 98 o
HE TN Bl A2 IR Tehe &Y ol 8l
7E b8 TRR & TEH o H Th
JETET B 7

[1] &= [2] Sferme

[3] 9&qo [4] fereema=
e & e e fEid &
AIER, ‘G G B B
T 31, SN Rl GRS SFaRR
%% fharaa & TaT wal ®, FHedn
[1] @& ygimr [2] 9o Sgie
[3] &hiET [4] |

I ThH B B AT B w9 H
qRaiyd R o @ar ¥ — GaT @
ded, 3 [ER 9 udhipd &9, A
e o 38 vei| &
g’ﬂwg@zﬁr%’wﬁwﬁmﬁﬁ
?

[1] Sfe Maes

[2] A w@ dieX dald

[3] GeX ud wigehw

[4] ERaEd
frafofea & & P9-o1 ofghy wmo=
& UH Toer fafy F& e ?

[1] TR [2] &g

[3] sHEat [4] STE@E

‘TH G B I B IE A S Fhal
g, fog N & fu arem =& B =1
TN’ 98 HOF dMSEE B dEd @
fre a9 & FdT S e ® 7
[1] dcXar & |

[2] =9 & EH

[3] 991G & |

[4] SEwfiRa &1 FEm
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[4]

5.

|®

[~

|

|©

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which
type of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes [2] Basic Instincts

[3})"Schema [4] Conservation

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who gave this definition of
emotional intelligence ?

[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson

Which one of the following is not a
direct method for measurement of
attitude ?

[1] Interview [2] Projection
[3] Questionnaire [4] Observation
'A horse can be brought near water,
but cannot be forced to drink." This
statement reveals the truth of
Thorndike's which law of learning ?
[1] Law of Readiness

[2] Law of Exercise

[3] Law of Effect

[4] Law of Multi Responses



10.

frfafag & @ @9-a1 Reer & ')
&R ?

[1] STERYT &R

[2] & &)

[3] STaeNy WX

[4] RidT &)

11. iafed ¥ § -9 SHH &

qRRafEn & Rid & 9 7@ o ?

[1] =eeht foreem
[2] A foeew
[3] "ER fereen
[4] 74 Rreed
I wd g9 HgRT & g § dHiE-a
TH & TeT e ¢

T T
[1] g S REIN]
[2] 3TfEERR - HuE
[3] sme=d - o
[4] 9T - e

ERI U Ll S e e M T |
HIF-|1 T Faiftls IUGH © 7

[1] HMEIH W Fe

[2] "rfoE gedl W ey gfEif
[3] |Ees TiidieEl ® e

[4] @St Heei T e

ARl & AEEh TEghd e &

ATEAR, GHM b AEEGhRA (b
U Pl AR & 7

[1] SRR
[2] €IS
[3] SifE®

[4] ST
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[5]

[A]
Which of the following is not a level
of teaching ?
[1] Basic Level
[2] Memory Level
[3] Understanding Level
[4] Reflective Level

11. Which one of the following is not a

part of Bronfenbrenner's Ecological
System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Mesosystem

Which pair is not correct with reference
to.emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape
Which way is the most appropriate
for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

According to Maslow's Need

Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal
[2] Social

[3] Intellectual
[4] Emotional



15.

frfofag & & @9-@1 & SR
Agal B GORTHEAT qOEeT § gefd
78 2 ?

[1] STETERCT IWANT dedl H
[2]§%Hﬁﬂﬂzﬁﬁﬁﬁeﬁﬁﬁﬁﬁﬁ

[3] IqE guR G4 Hd
[4] Y81 ud A el Gl wr

fr=ifofeg & @ ®F-o1 Fa Jgas
fafrTareT & ded ¥ @ & e ?

[1] #% & & aaf[ T a9 e T8
| |

[2] i fafrTan STre-oTer &=t
T defed & Faar 2

[3] Yk fafran foee & e
ST Bl gfad HY 2

[4] dafr ERERIY e

SATARMRT & HROT I Bl 5|

Fiekid FEI B A G
S BN He Q& 7
NEEENE [2] g9

[3] HergTreT (4] &TEoT

ek L TN I GRS L et e
PTG A< HA &G @&l © 7
[1] g7 R foren

[2] ST SR g

[3] G SR weT

[4] SeFT SR o

e fisia & e, e |
q BI-91 & B T THR T o ¢

[1] faseeemes
[3] Ssifa®

[2] g
[4] @IS
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[6]

9. According

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product improvement related
task

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1] No.two persons can be exactly
alike:

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

17. Who is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?
[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type
of intelligence ?
[1] Analytical

[3] Theoretical

[2] Creative
[4] Practical



Pleds & RIGAar, 98 & &)
P e B, S§ Afowar § @-wiga
A fasia afvfaa & o1 & 2

[1] gd-&fed

2] &

3] ST-feT

[4] g1 q FE T

21. Hfefad § @ f9-9 fearmEen &t

22, FAfKi@ IThH

% qE favar 787 e ?

[1] T& wfewor &t eraeer B

[2] T& STaRdHTreT @ STaeT g
[3] T& Tea™ & G H T B
[4] T& ATTRH B AT 2l

8] UrERe  Stiei
weer e & R e
Y

[1] | wd 9FF

[2] o

[3] Esieh

[4] oA Td ded

23. 99 TH MiEd @ ¥ uaseae &

g & SIRHEAL R ]
fpr Smar B, O g5 fRE YER @l

g SgEA 7
[1] fHig= st
PARECREEISEE RG]
[3] Ff¥era sfawe

[4] IRECHEIE SR

et & +fe faem  Reagar,
ERIRCES

[1] e aredioesar @l st
[2] TST9 @l Afcrpar i sTawn
[3] TR Afcreedr i ST
[4] T Sfqewar @ STawe
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[Z]

[A]

According to Kohlberg's theory,
what level of morality is it, when
morality  includes  self-accepted
moral principles ?

[1] Pre-conventional

[2] Conventional

[3] Post-conventional

[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.

[2] Itis period of unrealism.

[3] It is time for search of identity.
[4] It is the threshold of puberty.

Who “developed the Thematic
Apperception Test for personality
assessment ?

[1] Murray and Morgan

[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio

[3] Fixed interval

[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
is :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

P.T.O.
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[1] 80 [2] 90
[3] 100 [4] 110
U e & w9 § o9 foEnRiar &

SR Eo I B GOt B R |
Frefofad § & diF-a1 w1 787 B,

[1] Sicwpar 1 et
[2] 97 I g HTA

[3] wffehar & &Ge=rar
[4] S9EM RidT @l URER

29. 9@ S ‘&= @ WY # S e &,

FEA ©

[1] fadikie Hed

[2] UirEmIsEd

[3] @i

[4] g

@ T I 5 TR H ARERE © 7

[2] s1fSta
[4] @IS

[1] s&q
[3] ST

27. What

Which of the following factors
positively affects learning ?

[1] Meaningless content

[2] Lack of maturation

[3] Lack of motivation

[4] Informational feedback

Rohit helps others to get praise. This
is an example of :

[1] Intrinsic Motivation

[2] Extrinsic Motivation

[3] Innate Motivation

[4] None of these

will' be the intelligence
quotient of a 15 year old boy, when
his 'mental age is 12 ?

[1] 80 [2] 90

[3] 100 [4] 110

As a teacher which of the following
work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/903
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[A]

[T - II (PART - II)
A1 (B g 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % Go7 &7 & [T qag ST [dwey g

31. WiEEEl @ 3 ¥ orgm e

gﬁﬂ'{ :
[1] T - @9, deTREe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] =M - ¥R, IR, MU

32. 9 feq § oA 999 M & 59T

g R 7

[1] &5 U M &d B e
[2] A dfT gERy, St @ 4R

[3] &9 8 &1 FB &I [ ome bl
[4] ST A, S B A

33. ‘UMl gU-9 Il B dEd |

fohe U & FRET-faSiver @1 JERT gam
g7

[1] IaTe
[2] dfqars
[3] GRHATEES

[4] TS
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34.

qugd s =l & oad ST &
3ftc § 7 9F ® ¢

[1] €& - 38 dfed; =8 - de
(2] g3 - T AT - A
(3] Fefts Teb; M - goaar]
[4)-%SH. =/ &Y; Sao1 -

35, GOV W@a dE R A

e I Ol T e B |
JETET B 7

[1] YeEars qs1

[2] STicErEes |l

[3] WEaTES HEll

[4] HieTarerh Hl

36. FTH { BHI-G1 A FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= § % ¥ oY% SUTN @

ST e & 7
[1] Sty [2] v
[3] STgeH [4] =ty



[A]

38. UM &l gie § oG faehed T ¢

[1] F bt -  HHEARA
[2] AfTEmE - ey
3] 9/mr - &

[4] e - T

39. T ey o foerl @ &1 sEnT gan

T 7

[1] grifteY
2] Tags
[3] TR
[4] fFegX

40. =R H UILHH B ghe § ‘H@T

I TH 9 9 9= & s oMy ?
[1] 9

[2] 9™

[3] <X

[4] =ffeb

41. oI i gt 9 og7d faeed T

[1] SR - AR

2] 9@ - StHE

[3] & - g

[4] @1 - TSET

[10]

42. =9 § &9 9= ¥ ‘oMET U @

ST 78 AT § 7
[1] Riee
[3] gFm@E

[2] @STEe
[4] TUaC

43. THRI FH e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &<

44, ‘9 g= § FiHq @A

[1] wrstiees
PAREII]
[3] ugE
[4] 9T
45. ‘TEH-TEHT H 3T W FGIT [
g
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "
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[11] [A]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (av),(1i1), (i1)
OverIOOked' [2] (1)7 (IV)9 (11)’ (111)
[4] Although he is not cute, but he [3] (ii), (iv), (i), (i)
cannot be overlooked. [4) (iv), (i), (i), (iii)
41. Change the narration : o ]
Kavin said to Mr. Cowper, "Pledsc, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... :
be kind to him. o
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be o
please kind to me: [3] has been raining
[4] Kavin ask.ed Mr. .Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that

form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/903

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



[A]

53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ........cu. not /walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[12]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] caftries rough winds

[2)-kills no‘one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/903
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[A]

- III (PART - III)
9 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o G &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [4wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

ed & g9 X JA Y &l B T
T H WE Jg o1 A Y B WEE
X% M@, @Y & Ye
g Remd & 7

[1] 3ITX

[2] &ferer

3] @@
[4] qf=™

62. Uh T, el Fived g0 # 4. @i

feem & 3 €¢ #, S&fh e 4.56c
T F B AR g) @ oI 3 R
g ger B, @ VG 9w A A
e 8

[1] 10 fpmt ofcq g1

[2] 12 T Sf ger

[3] 13 fehet 9fy et

[4] 15 T f ger

10.5 |9 Brear &1 T oa1g @ Men
fogares, 3.5 &4 Brewr qanr 3 &
FaE T B¢ B gigelt F o fa
ST &1 TedER, 39 JHR 99 o B
g fp arft ?

[1] 112

2] 126

[3] 132 [4] 138
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61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North

[2] South

[3] East

[4] West

A boat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph

[2] 12 kmph

[3] 13 kmph

[4] 15 kmph

A metallic sphere of radius 10.5 cm
is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of

cones thus formed is :
[1] 112 [2] 126

[3] 132 [4] 138



[A]

64.

I P TR AP Thdls ST @
MR T 3 Iu H THE AN
aﬁw%ws‘rw,a‘rwaﬁ
qMH T T -

2 1
11 16=% 2] 33-%
1] 162 [2] 337

[3] 33%

1865 @RI ® ¥, 660 STISH s T
g AR 1305 R 99 w8, Wy
120 &Rp & § § BE W AW el
S @hd €, o Fhae AN QM A
I T & 7
[1] 220

[3] 120

[4] 50%

[2] 440
[4] 1085

66. TG P HUT T 20% P FH A N

W TF Tk 800 &9 H 12.5 fpm
qEad e GAS AT ©, A G
qq Hiq oi e e 207
[1] 12 593 [2] 1459
[3] 1559 [4] 16 9

61. [T9ON & TH JATHA H [OHN,

RIS 1 12 TA1 1 ATERA B S
T Bl AR SEH AVES 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

68. [ UT 1 ST U ST HIOT :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T [2] T2670N
[3] N2676S [4] M2670S

Level-3/903

[14]

64.

If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

2 1
11 162% 2] 33-%
1] 162 [2] 337

[3] 33% [4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak.both languages ?
[1].220 [2] 440
[3] 120 [4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of
rice per kg is :
[1] Rs. 12
[3] Rs. 15

[2] Rs. 14
[4] Rs. 16

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

[1] 2726 [2] 2736

[3] 2796 [4] 2826

Find the next term of the following
series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T [2] T2670N
[3] N2676S [4] M2670S



69. &I @& @ 5, 9, 13 ¥ fouea

N
I

HE U HIM: 2, 6 T 10 AT T
T U w99 B e ®
[1] 602 [2] 592
[3] 572 [4] 582

Uh FREd < 9 § "PARTICLE"
@ "USBQFMDJ" @I "GENERATE"
& "FOFHFUBS" forar omm 8, @ 3@
M H2 9 H, "DOCUMENT" &
foTar ST

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

T Q, P ¥
B 9 P &R % B W H
g T 7
[1] 22 &2
[3] 30 &2

EIN ==
(> +y?) &1 A9 ¥ :

[1] 14 2] 12
[3] 13 [4] 16

qefhal @ uH ufth ¥, A St o} 4@
104 & W q1 B aEi X q 149
WM W ¥, 9% 3 ofu Ruferr weR
e ol 8, al A S ok & 244
WM W A 6 g, Gke § aefea @l
e et § ?
[1] 31

[3] 37

[2] 25 &<
[4]°35 &2
J3-1
V3+1’

aqr y=

[2] 33
[4] 39
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69.

12, If «x

[A]
A number when divided by 5, 9, 13
leaves remainder 2, 6 and 10

respectively. The least such number is :

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" is written as
"USBQFMDIJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :
[1] VDEPUOSF
[2)VDPENFUQ
[3]. VDPEUOFN
[4] VDPEUOSF

71. A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs
[3] 30 hrs [4] 35 hrs
V3+1 J3-1
= — d =, th th
ol and y N en the
value of (x> +y?) is :
[1] 14 2] 12
[3] 13 [4] 16

73. In a row of girls, A is 10th from the

left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39



[A]

74. T% HMER Th 6]

B 15% T W
ST B, SR 39 I 18 TUY AR
g S B, O SuE " 18% @&
Sl 39 a&] 1 %9 9 (B0 H) B ¢
[1] 360 [2] 540
[3] 600 [4] 640

TF FE H e 9000 g, aR gest
P TEEA e W 5% SR wieanst
H e W 8% & T TH a§ H
%H’Fi@T 9600 &, o J&Si &l e
[1] 3000
[3] 5000

[2] 4000
[4] 5600

D, C @ E § @1 ¥, A, E § ot
T T R, C, Aga=r e, D,B 4@
aftes @ W&l B, A I q B
qaIY T 8 7
[1] A
[3] C

[2] B
[4] D

U A 391 Al ermel 94§ ufdem
H AT S T T qA IR @ R H
& &l I @ B, O SuH gl R
fesm & S 7

[1] So-TYo [2] So-Yo

[3] &0 -Yo [4] o -To

Fr=t dear oot &1 oFel W8 ©
3,13, 22, 32, 59, 69, 120, 130, ?

[1] 201 [2] 211

[3] 227 [4] 232
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A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360 [2] 540

[3] 600 [4] 640

75. The population of a town is 9000. If

the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :

[1] 3000 [2] 4000

[3]1 5000 [4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
[3] C

[2] B
[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?
[1] Father
[3] Sister

[2] Brother
[4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W 2] N-E

[3] S-E [4] S-W

The next term of the following
number series is :

3,13,22,32,59, 69, 120, 130, ?

[1] 201 [2] 211

[3] 227 [4] 232



80.

82.

9 s TSl 1 AEd n B, A% ITH
A OFIH Gl H AqMHT ST o
ST, @ S a8 SR ?

[1] a8 99 &
[2] 1% gfa &Rl
[3] 1.5 @I gis erft
[4] 2 @ g Brlt

8l. BN & [T WM & i &

O 9 & ded TIaX ©d & &9

¥ arfergfe fear T © 7

[1] YR TSE ST X fHeEm
NG ARG

2] R TEE I AR g™
FeIg ARG

[3] X g9eild  ST9ER &K &R
TP geila A9IRTg

[4] SGIEX  FEE  HHARYE 3R
TIA-EI-3dM ageiig. ST

frr=rifhd et WX feER e ¢
() eREmm § EgE Hen o @l
AT a9 2002 § & T8 oy

(i) =Y MW U ERAen U &
EESERIEIRES D

[1] ®aa (i) T8 B
[2] ®ad (i) &I B
[3] (1) TE (i) I @& B
[4] () TE (i) A T 2
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[A]

80. The average of nine consecutive

81.

82.

numbers is n. If the next two
numbers are also included, the new
average is :

[1] remain the same

[2] increase by 1

[3] increase by 1.5

[4] increase by 2

Which places of Haryana have been
notified-=as Ramsar site under
Ramsar convention of UNESCO ?

[1] Sultanpur National Park &
Bhindawas Wildlife Sanctuary

[2] Kalesar Park &
Khaparwas Wildlife Sanctuary

National

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (i) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (i1) are incorrect.

P.T.O.



[A]
3.

86.

AT % fhe Y @ R off a)
AR & &Y F 1 AT B 7

[1] Teu™ PAKSIRIRG

[3] gHTa [4] Fyart

g & e @Rel 3§
?? T TR @ NE H g ud
() AT TG B T

(i) S G

(iii) HiHmRat qfeX e

7& FHT B AT HIOT

[1] () 3R (i)

[2] (ii) TR (iii)

[3] (i) ¥R (i)

[4] (), (i) 3 (i)

85. AN & AR RN H SMERYd

glaenet # fowd w0 & fow fm |
q HI-A deer R § 7

[1] BRgA

[2] g&T

[3] TaUHSTEeTEEE
[4] e SERT =

Frffed & @ &M eEmm &
T & ERT gH 78] el © ?

[1] REmT & gegus
[2] USTe U9 BREAm ST I
T

[3] BRI W6 da1 ™R #
D]

[4] R AFEIEHR SRR H 95
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83.

Which of the city of Haryana is
known as the 'City of War Heroes' ?

[1] Gurugram
[3] Panipat

[2] Sonipat
[4] Bhiwani

84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(1) Sheikh Tayyab's Tomb

(i1)) Shobha Sagar Pond

(ii1)) Bhimadevi Temple Complex
Choosg the correct code :

[1]+G) and (i)

[2]. (i1) and (iii)

[3] (1) and (iii)

[4] (1), (i1) and (iii)

85. Which of the following institute is

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

86. Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

g & efiieg Togue § 8§
B T AABIE o7 ?

[1] FIFRT G&T
[2] STogE ol BTl
[3] g+ ol Hed
(4] Y TR

RIR 89 9 qsAr & I) A

frreifoiad et @l gfex -

(i) ¥& o1 IR H TH THE B
w1 f Rfga & & ok W
BRAOT & §HE URAN @ Th
O AEING-oTi®  Seed
R F @ B

(ii) 9% IRAR H TH S 3l Bl
e qRaX UEaM STdved i
S W ? SR wsEM (D) #
S, g U Jaied, Reigd w
SiigT S|

(iii) AN T8 ey ¥ SU@e S
N SN AT HeoeR e
¥ @ @ 'Y few Smom &R
RaR & ©@F qeel & AU

S A Pl STALIHA 18] Rl
7& HE F T HIT
[1] o (i) T& B
[2] (i) R (i) @& 2
[3] (i) SR (iii) && 2
[4] (i), (i) 3N (iii) @& |
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81.

[A]

Who among the following Governors

of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar’Pehchan Patra Yojna' :

(1)~ This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all
the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,
death and marriage records.

(i11) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (i1) is correct.
[2] (1) and (i1) are correct.
[3] (ii) and (ii1) are correct.

[4] (1), (11) and (1i1) are correct.

P.T.O.



[A]

89. BRI & TUUW & dag H

frrfefad wemt X foar ik

() T& eI F=E [eafEE @
et 2

(ii) 98 T & foell ot 9 & 9 B
qRYT P THh ol

(ii)a& =heqd T HE  aEEd,
BTN T R $ AT B

(iv)32 Giea & o= B
wiaaag e o< &t &

S | DE-AUA I 78 ofs !

[1] (), (i), (iii) 3T (Qv)

[2] (i), (iii) T (iv)

[3] ®aa (iii)

[4] (ii) 1R (iii) I

gRamT & de w6 IR TS @ @l
i &

[1] 7 3R 4

[2] 10 &R 4

[3] 103IR 5

[4] 128 5

[20]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(1i1)) He can hold any office of the
profit in the State.

(ii1) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)Hes""does not have any
discretionary power  granted

under the Constitution.

Which of the above statement(s)

1s/are correct ?

[1] (1), (i1), (iii) and (iv)
[2] (ii), (iii) and (iv)
[3] Only (iii)

[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10 and 5

[4] 12 and 5

Level-3/903
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[A]

AT - IV (PART - IV)

UST§ (PUNJABI)

91.

HIT HASI Fed € Ufg® wd (&

=

ufgsT) € gaa fam ™ w3 mEs 3

Fryger J7

[1] ™ : HA&s 1968 €m=t, mas
g3targ fe Aer € fusT & we

[2] mF : Hs 1951, AEms @ BT € U3t
T AU IHIT

[3] At : A& 1968, Fas : fEat &t fia
<t gAst <9 #eT € U39 < dat

[4] =™ : A& 1948, mars : ot fey
Her @ fuzr &t dot

92. ‘»g ¥¥ d Wd 3 T T UEI <IN

I fege & AT’ IEdwd O TI&T
M3 Ma & dF F=-Mdg I& ?

[1] »ig fEg 34 W3 &8 & & J| #d
fég g¢ = & JI

[2] »ig dear I, »ix ffgat JI

[3] #E yas & faor fomr T 7€ fa

BT & 3B&T id FF dISt It
Tl

[4] yas <& wws W, ffeat g g
Hiew famir 31 yas #ia =far J1

Level-3/903

93.

Yy’ JfelT @r Jg9&9g d< J¢ fomer
Wy femr at g7

I9r fRw, Wy femr
ISt MUS W&, 995 M3 oddi <t

[1] 39&<T :

ugy giger J|

[2] &<t + Ifggras fw, vy fedr : a<t
marsT-Uifemr f&9° gragsT Ider J1

[3] 393 : A= AW aat, Wy femr -
It FEst, JIst M3 femet e uay
Fger J|

[4] o<t : eh=g fAw, Hy fewr : a<t
o3 w3 »H® T U3t Heer
Fger J|

US-UAST ‘Mufed die I3&od «F

AU M3 yIHd ds J 7

[1] Aued : §. fgus fAw, yawa :
Jrardt gateafaet ufenmsr

[2] Fueq : Ifgers fiw, yawa : 3@
&89 €< gategfaet #ify3ng

[3] Aumeq : 4. Afdeg fiw &9, yamd :
A gat=dfiet I51ag

[4] Au=a : Hfdes d9 fais, yama :
et migrert fest



[A]

95.

fegt feg' fausr sus m&t mfos A

gfe gar '3 B a4t e ?

[1] feo fad® fummg e Afag 1

[2] fern 9 =ams W3 dsa-Hss &
femm wds= fagr A7 T

[3] feg Ao € fAea e afe T

[4] HoWe W3 AU € WAt yH few
gfe € fde-ws J|

96. Ffezs” < ufggmr g9 faus™ FEs 4.

yas fAw & &dt I7?

[1] afesr JI9 Iouz I, feo »r<m
=far G339t T

[2] 7O W& € ez &% afesr auge
TS|

[3] afe3a™ B0 wferm € Gua JetJ|

[4] afesT fez <t 88t T

97. I J9EH A & IH fdat Fat oI

fd& afdst <t gosr aist?

[1] 35 =vat w3 539 af¥at &t
[2] 40 =at w3 556 afg3t &t
[3] 37 =at M3 566 IfE3t &t
[4] 38 =at w3 536 Ff¥3t &t

‘g Wiy &% g9rEet Afed 98 J9s |
Gud Uat ulet &€ Fuer Jut eA3
gds |’

feqt arfe-Azat € g9&Ad dS 7

[1] Ied sayaeTa [2] mfovewa

[3] WiE

[4] dreau
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99. €7 faus™ u39 I fAdg seada &
HeT AIST Fed € J9A § THGT
Hfenr 32

[1] AsT & U39 d=% a3

[2] BT € 9T HSW JYT H AHIH!
ftes = yStfeu uzg <t T

(3] Femeh T ur
[4] "

iffug 3a7 ffw T #eW ae dfemr

w3 € Hffear awa ufewsr <

fiitus a< g7

[1] 08 w9, 1894 & #aH Ifenr,
1946 €. feg Hfdesr a&a €
firlus gy are |

[2] 02 &5, 1893 & #aH, 1949 einst
f&9 Hideer a=a € firlus s

[3] waggd 1891 & #an, 1945 fI=
Hidear aa+ € fyitus au are|

[4] 10 me=dt, 1896 & waw Sfenm,
1958 f&9 wifeer asa € ffus
fogas 9|

101. »HE/MyE3 ugTe:

[1] 3t = yorg g=@ar
[2] &3 &9 fHar g9 A=T
[3] fea dg & 3=t &t FA<T

[4] fest = yggeT Jr




102. A0 HIHE & HAdeHT feuys 3 femrer

ot

ot

ol

feg famr =t fafiur A Gwer &t &t
At ?

[1] dto-atsr
[3] Aoetwdtes [4] AAtyds

[2] Y35 398

‘B a3t fEd I3t FI&T HaTeg =F ot

wdg I ?

[1] farn & av3Bg WS, dAst w3
fégatr gaaT

[2] d5tat & wmaEr 385 fég f<9
ZagsT

[3] I3 €ar &% ST ST

[4] T®HeSE TaaT

995 fiw wmdte &t faost gsgar feéq
FIST-BHT BY J?

[1] »owt fdare

[2] g8 =fewmt & feg-famet

[3] fermg e Ja9

[4] & =gt

grfe grar € Heh Hfewr #fer g7

[1] AT F38<ts gufamd aat A
&

[2] yrmaT HEteEls foust At &
[3] o9 Ay =dte At &
[4] By DHiEEls geret &diet At §
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106.

ol
=~

[A]

HIT WISl sed € fguz gar A7 7
feg U3¥z 3 < Unadt 9Et 97

[1] g7 swa1 fe9 [2] ufos fom fe
[3] <& s feg [4] 3= fon f<s

Fife Jte3l’ € Auea & fern fasw &

faa w3 fagxz ot fSg Sfamr 7

[1] 59 It feg Sfsmm T : gafia,
<t

[2] f3& fifmut feg 2w T : a1=t,
Yarst w3 s<ar3t

[3] &9 fIfmut feT S T : Huast
w3 wofed % ©F ufod, g7 3
3t <9 &t afesr

[4] 99 o fI9 Sfswr T : JIA=T<T,
gfear

“ed g giae T wifsT, ¢ ¢ Jfemi

diat gat 3 eferret, 7T wiEd § efen !’

fegst arfenzat &9 dge € Wig ©

des € FUI Ha3d #iag dt 957

[1] =t € W& »iwast ffa moAg=t
w3 TGt i @3t € des
g9 I5 |

[2] a=t & fooe feusd fumd ngs= &
yarergE I |

[3] fam most fewsz & Gt € e
g fewar Jae 5|

[4] wfeg & firs @3t feed gow
Uy € y3H & TIHET I5|

P.T.O.



el

ot

‘Ffe-aHTel yAsd € AUTEd/HuTEdT ©r

at &F J?

[1] A3 fiw AE w3 #ifET yiav

2] 4. fyzus fRw

[3] afdgrs fAw, ATt IHS WI IaT
ffwr v

[4] §. dfggas fAw w3 3. Hided d9
fats

. Jg IHEH A ¥ ASH a< w3 fdF

Jfemr?

[1] 1534 €n<t f&9, g9 feu

[2] 1544 €n<t &9, gwaa feu

[3] 1546 gm<t f39, Jifdees fou

[4] 1543 &nst f&9, g&r Ml &de
feu

‘7 3 I® &9 8t T g@ ufenr, 39

B9 § UT I3 HEIE|

A7 3 dg 3 Ugt § &%t Hidet, 99 &5

3 Hdl &7 % Hele !’

fegst arfe-dadtit e 959 < J?

fegst f&9 faw m@arg & =93 Iet T7?

[1] a<t : #ifizT ylsw, femes »idars

2] &=t : 4. ¥Hos fAw, wf3agst
MBI

[3] a<t : Hos fAw S, gud WIEd9

[4] a<t : get 9 fAw, wfssEst
MBI
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el

ot

112. ‘g3t 3¢ Aig o8t 29 =¢ T, B9zt 3

AaT = forg de 4,

d& H'J IIBT wMde &7 fapdT, Wger

I He i8S o fapum )’

fegt grfedadtwt & g@sa9 de J

w3 fegst € I9aT fagz v f&g Jgvt

J?

[1] s9&9 : st aH T13d, 8¢
CCEM

[2] 396799 . UH, 8¢ : 93
[3] &=t : 4. yas fiw, € : &3
[4] &=t : §. Hos fAw, g€ : <

gerset € a4t 7

[1] feg=r 33

[2] feT 3 T HE

[3] fAg fezat € o= 3 §
[4] T T #E

. U yos fAw & 393 & wraret Bfge €

a3 Grer &t & A?

[1] € =3fdar 375

[2] & safar Iz57
[3] &t mfufse 95 vhus
[4] <t §3fdar 375



115. 3% fiw Jadt € ffd WAged Aede™T

et

3ug I Ts| BxF € & IH AT

naBst uan fag w3 fas afswr?

[1] st dfgar &9 ‘aWst wast
aHE B39 3y feus daa

[2] wiag fgadt W3 »Est @8 &%
33T I JId

[3] ‘aH®T wE@st sHa fea garet
foys gga

[4] efsar wdAls fe9 TIFt=e9 A—Ia™T
BUT TId |

‘Ffe ate3l’ afe-Hafg € fan fon &9

g 3 ue m3 fam @@ A9 3 =U

It Tt afear=t Tad 76 ?

[1] 89 € 99 It f<g gorg9-g9=gd

ary

[2] ufo® fom fe9 A9 3 Su M3 I§
for fe9 g 3 We T

[3] g1 gmar <9 A9 3 wie w3 ufasd
ga1 fE9 A9 3 farmer o5 |

[4] ufg® fom fe9 A 3 wWe W3 J=

for fe9 A9 3 <U I5|
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6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.
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11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 390 OMR I TF T & ik H T IT AFYI

. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FE AF MM A el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF TAT B, Fis HE A RREk § (ve7-gRam o R =% § w5 § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9l adle 9 gwn) O § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheetin the Signature Chart.)

adfl # e S/ § TR o iR Teun W& sfaRen Rl ser @ argg-aren, ga o st s & afr,
JoR, MeET B, gosli-es SUBT A Rl S FC & |l Bl & S a1 WM HIA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot} STUAr s e (I o) iR UgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THaEE B AT AR $ AT $iE oTrefl STUAT WM 7 BI1 (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

AR JHAEE B AT IR T (@ [ T sWER G W ASRT sERR R faer ervd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e 3ER I I e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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